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MEAERGRES 2017411 B28H
% % s W ABRUHE S % %
NFE— 67 241, 200 36x 67
MiE= 9 32,400 36x 9
MiE= 4 14, 400 36x 4
R 9 18, 000 36x l5
a— 31 111, 600 36x 31
NEZ 13 46, 800 36x 13
ME— 1 3, 600 36x 1
NEZ 19 68, 400 36x 19
PIR= 3 10, 800 36x 3
RO 44 158, 400 36x 44
MEO— 160 576, 000 36x160
#FOZ 6 21, 600 36x 6
EOH 43 154, 800 36x 43
50— 17 61, 200 36x 17
BEO— 4 14, 400 36x 4
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PEIRERRBES 20174E11 8288
% oF W AMEUER &
RO— 6 21, 600 36x 6
rROZ / 25, 200 36x 7
B— 11 39, 600 36x 11
BE— 1 3, 600 36x 1
BEZ 1 3, 600 36x 1
BO— 26 93, 600 36x 26
CO% 3 10, 800 36x 3
<CO— 56 201, 600 36x 56
<OZ 10 36, 000 36x 10
KO%H 32 115, 200 36x 32
KO— 13 46, 800 36x 13
F— 3 10, 800 3ox 3
7 — 23 82, 800 36x 23
KAy — 4 14, 400 36x 4
&t 622 | 2,239,200 K ( 622)
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